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INSTRUCTIONS FOR CANDIDATES el & forg _der

1. The Question Paper consists of four sections
Section-A Mental Ability of 50 questions (Q.No. 1 to
50), Section-B Teacher Aptitude and Attitude of 50
questions (Q.No. 51 to 100), Section-C General
Awareness of 50 questions (Q.No. 101 to 150) and
Section-D English OR Hindi of 50 questions (Q.No.
151 to 200).

2. Write your entries like Question Booklet No. and
Subject selected for Section-D etc. very carefully and
fill the relevant circles on the OMR Answer Sheet.

3. For filling the OMR Answer Sheet and darkening the
circle use Blue/Black Ball Point Pen only.

4. Answer all questions. There will be no negative
marking.

5. 3 marks are allotted for correct answer of each
question of section A, C, D and 3, 2, 1 and 0 marks
are allotted respectively on preference for correct
answer of section ‘B’ Teaching Aptitude.

6. Each question has four alternative responses marked
serially as A, B, C, D. You have to darken only one
circle or bubble indicating the correct answer on the
Answer Sheet using Blue/Black Ball Point Pen.
Darkening more than one circle would be treated as
wrong answer.

7. If there is any sort of ambiguity/ mistake either of
printing or factual nature then out of Hindi and
English Version of the question, the English Version
will be treated as standard.

8. In case of missing pages, missing questions or any
kind of printing discrepancy/defect in Question
Booklet, candidates may put their objections to
invigilator within 5 minutes and obtain another
Question Booklet.
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Section-A / ¥IT-3H
e Jrdn

Mental Ability

Choose the alternative which closely
resembles the water image of the given
combination.

39 foercd o1 ==H L ST feu U gaeH i
A B S T |
BK50RP62

(A) BX20Kb9S (B) BKSOY¥beES

(C) BK20dbeS (D) BKR20KbLES

In the question below are given three

statements followed by three conclusions I,

II and HI. You have to take the given

statements to be true even if they seem to

be at variance from commonly known

facts. Read all the conclusions and then

decide which of the given conclusions

logically follows the given statements,

disregarding commonly known facts.

Statements : All scﬁools are colleges.
Some universities are institutions.
No school is university.

Conclusions :

I.  All colleges are universities is not a
possibility.

II. No college is university is not a

possibility.

Some institutions are not schools is

not a possibility.

A) Only I and II follows.

B) Only II follows.

(C) Only III follows.

(D) Only I and III follows.

feu e s 7 FfF e 3R
s I, 11 3 I few e g |
AT I T AT § 9ol &1 o FoT
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3.

The film director wants an actor for the lead
role of Lucky who perfectly fits the
description that appears in the original
screenplay. He is not willing to consider
actor who do not resemble the character as
he is described in the screenplay, no matter
how talented they are. The screenplay
describes Lucky as an average—sized, forty
something, red head, with deep brown eyes,
very fair skin, and a brilliant smile. The
casting agent has four actors in mind.

Actor 1 is a stunning red-haired
handsome who is 59" and in his mid-
twenties age. His eyes are brown and
he has an olive complexion.

Actor 2 : has red hair, deep brown eyes,
and a fair complexion. He is in his
mid-forties and is 5'5".

Actor 3 : is 5'4" and of medium build.
He has red hair, brown eyes, and is
in his early forties.

Actor 4 : is a blue-eyed, red head, in
his early thirties. He’s of very slight
build and stands at 5'.

e §_fred-goada & @
YesheT H affd foham e 7, =me 98 foha
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AT, T S 3T, S T o= 37 T
THER Y& % &9 H dfd Ll 2 |
T Tsie o TG H IR AR 81 & |
C 1 : Uh QR AT dTAl Tl
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Soham has invited his three friends over |

to watch the football game on his wide-
screen television. They are all hungry,
but no one wants to leave to get food.

ﬁ the time they are arguing about ;
who should order the food, a |
commercial comes on the television
screen for a local pizzeria that delivers !
izzas at home. The phone number i
ashes on the screen briefly and they all
try to remember it. By the time Soham
grabs a pen and paper, each of them :

recollects a different number.

#1:All of the men agree that the first

two numbers are 67.
#?2: Three agree that the third number is 2.

#3:Three of them agree that the fourth

number is 4.

#4:Three agree that the fifth number is
greater than fourth number but less |

than sixth number.

#5: Three agree that the sixth number is
6; three others also agree that the |

seventh number is §.

Which of the numbers is most likely the

telephone number of the pizzeria ?
(A) 6726548

(B) 6724568

(C) 6724758

(D) Insufficient Data
HigH A 30 T Qe
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(A) 6726548 (B) 6724568
(C) 6724758 (D)

{}I’

Mabhesh is working with a friend to find
a location for the toy store he plans to
{)en in his town. He is looking for a
%ace that is either in, or not too far
om the center of town and one that
would attract the right kind of foot
traffic. Which of the following locations
should Mahesh’s friend call to his
attention ?

(A) A storefront in a new high-rise
building near the train station in the
center of town whose occupants are
mainly young, childless
professionals who use the train to
commute to their offices each day.

(B) A little shop three blocks away
from the town’s main street,
located across the street from an
elementary school and next door to
an ice cream store.

(C) A stand-alone storefront on a quiet
residential street ten blocks away
from the town’s center.

(D) A storefront in a small strip mall
located on the outskirts of town that
is also occupied by a pharmacy and
a dry cleaner.

TR Ueh GRd o A1 hTH L T&T 8 dlieh a8

A Tl H facti B ghH @i

aﬁwwﬁl%@ﬁlﬁwaﬁw

T S AT A e H hg WA AT 39 Wy
A B 3R S HEl TR 6 Yae AT bl
amﬁaa%ﬁmﬁf\@aﬁ@%mwﬂm

&Y o T ol 3T A AN BT

T ?

(A) &L % g H ¢ RIE % U T 3
ﬁwﬁ@maﬁﬁtgv@
qTeit g (RIRe), & & Al
g&T &9 § 441, F:9a9 W § S
T e T swrferdl § 9 % fog
9 BT I HA & |

(B) &L i G TSH | TH ih ¢ Th
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(C)wﬁs%ﬁmm%ﬁsm
AT Heh W Th - 3T
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While travelling in a Haryana registered
commercial taxi from Haryana to an
adjacent city (another State), your taxi |
driver informs you that as he has no permit
for running the taxi in that city, he will i
stop at its Transport Office and pay the
prescribed fee of ¥ 50 for a day. While !
paying the fee at the counter you find that
the transport clerk is taking an extra ¥ 50 :
for which no receipt is being given. You |
are in a hurry for an office meeting. Under |

such circumstances, what would you do ?

(A) Do not interfere at all as this is a
matter between the taxi driver and the

tax authorities.

(B) Take note of the incident and
subsequently inform the matter to the :

concerned authorities.

(C) Go up to the counter and ask the clerk
to give back the money which he has |

illegally taken.

(D) Treat it as a normal affair and simply

forget about it.

BRI Tofiehd STETeh doll H gRamm &

T F TR (G TH) H A6 H T,
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T g, a‘a’saéwﬁagqesra‘mﬁ@wﬁ@
ﬁ:f%ﬁ%m? 50 fef Sfoeh T | |
éﬁwmqﬁ fop uftEsT |

wés? soaﬁﬁﬁﬁ@%ﬁwﬁaﬁér&ﬁaqﬁf
&S 2 | W HA6E Wi o fqu sied

36k U 39 YT H S

2 | U yifefea 1 o1 s R 2

(A) Toorpe g&a& 7 ot Fifh Ig Tl
=eieh 3R L Skt & o=

AT R |

(B) W W W ¥ 3 @ § e |

nferepTie st wmet < gET E |

(C) IS W AW 31N oefeh T 37 97 ol
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You are a Professor in a University and
are setting an examination paper on a
particular  subject. One of your
colleagues, whose daughter is preparing
for the examination on that subject,
comes to you and informs you that it is
his daughter’s last chance to pass that
examination and whether you could help
him by indicating what questions are
going to be asked in the examination. In
the past, your colleague had helped you
in another matter. Your colleague
informs you that his daughter will suffer
from depression if she fails in this
examination. Under such circumstances,
what would you do ?
(A) In view of the help he had given
you, extend your help to him.
(B) Report the conduct of your
colleague to the higher authorities.
(C) Explain to your colleague that this
would be violating the trust of the
University authorities and you are
not in a position to help him.
(D) Regret that you cannot be of any
help to him. ] ]
Y Tk favafoarad ¥ The § 3R Th
forry forwg R U W T AR R E
HATYehT Ueh Hehtil, fSoeh! 9t 37 fomr <t
TR T AT T T 7, T T ST 2
3R 3AT9eh! gad 2 o 72 3w 3
& g qde vl S 1 e Jie 8
3TN AT 31T Ig FAThT ITh! TG hL Fehd
% o wher] § B 8 79 I 9 A § |
ud H 3Tk gt 4 foRet 3= wmer |
JTTIeh! g <ht oft | 3Tk TEshHl 4 3Tl
?ﬁlﬂ fopan fop afg o1 380 wlien o Srgehol
&l STl 8 o 35l Tl Je@Ig ¥ I B
St | U T 3T I B 2
(A) 3 3TIehI A1 Heg < off, 3 T@d g
3191 HEg ITh! 3T @ |
(B) 3= i w1 3w TEarft &%
TR 6 fare e |
(C) 3 wearft =l wugd fh ¥
foraferme % tfusrial o fava™
T oo AT 3R 3T 3ThH! Heg
w I feafa H T € |
(D) USdrET il fob 39 3T fou 18
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In a question given below there is a
statement followed by two assumptions
numbered I and II. An assumption is
something supposed or taken for granted.
You have to consider the statement and
assumptions and then decide which of the
assumption(s) is/are implicit in the
statement. You have to consider the
statement to be true even if it seems to be at
variance from the commonly known facts.

Statement : The school has decided to
rusticate such students from the school
who is creating violence and not
following rules in the school.

Assumptions:

I. By rusticating students from the
school those students will never do
such things again in the future.

II. This action leads to discipline in the
school.

(A) Only assumption I implicit.

Bg Only assumption II implicit.
EC Either assumption I or II implicit.
(D) Neither assumption I nor II mimplicit,

i hL H%igqgesmésma
RO 1 377 11 | Teh RO
A S TS B | TR HUA g

£
el
23
4
g
7

II. 39 %NaTE
TR | ,

(A) hearel €T [ Jiafifed & |

(B) aet GrEm 11 Jaffed & |

(C) 1 9Tom [ 371 11 3Fafied 7 |
(D) 7l 9RO [ 3R TE ] SAaHEd 2 |

If in a certain code language
EQUATION is coded as ZFJVMLRG,
then how is FORECAST coded in that
same code language ?

Ffe foreft ffeaa
%! ZEJVMLRG o &9 H %heag fondl Sl
], 1 3¢ B2 9T § FORECAST 1 &dl
hesg fohal ST 2
(A) EROFTSAC
(C) EFORSATA

¥ @A H ITIMET S

(B) ULIVXZHG
(D) VILUGHZX

%2 9 4 EQUATION !

. 10.

11.

Find the missing number in the given
series following the same pattern.

& T sfEen # THE Yo 1 FTEW B
B H HEAT A1 1T |

29Al, 3CL8, FO47, 56JR, (?)

(A) 50U6 (B) 6NV5

(C) 50Ve6 (D) 60U5

Read both the statements and decide
which of the following answer choice
correctly depicts the relationship
between these two statements :
Statements :

I.  The car manufacturing companies
have recently increased the prices
of mid-sized cars.

II. The Government recently increased
the duty on mid-sized cars.

(A) Statement 1 is the cause and

statement I is its effect.

Statement II is the cause and

statement [ is its effect.

(C) Both the statements I and II are
independent causes.

(D) Both the statements I and II are
effects of independent causes.

ST SFT I I¢ 3R T i fob FHmfcTiad

T ¥ % O1 W fasheq 3 gFl Al &

o Y 1 HE & § S @ :

hY:

1. &R fm st 9 g € 5 vem
3R < HRT ! HiFdi § g H 2 |

[I. ¥R A B & § 790 36K hl
I T I TSR |

(A) YT [ HRUT g 3R HUA 11 SEHT JHTE
gl

(B) e 11 SHROT § 37 HH 1 SHhRT THTe
gl

(C) e 1 3R 11 H1 T HROT § |

(D) %9 1 3R I HI Tad HROT &
T F |

(B)
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12.

13.

A company needs to decide whether to

invest in a new technology platform or to

continue using their existing platform.

Which factor should the compan%/ consider

most when making this decision ?

(A) The potential benefits of the new
platform.

(B) The compatibility of the new
platform with existing systems.

(C) The cost of investing in the new
platform.

(D) The potential impact on employee
productivity.

Teh U 1 g O B <hl IATTIHT & fh

T TH TC W CER:| HET 7

T A Tl 1 ST HTAT ST T T

% | ﬁﬁ T hYH] iﬁ [ehtl ohlich

LS 31fereh foram et =mfeu 2

(A) 7T HE % GwIferd o

(B) TIS[GT T&rEeH o |1 7T 5 <hl 3Therd

(C) e Hel | feisr <61 mTa

(D) SHHAN IcaTEhal W GHTerd TTe

Six books - English, Hindi, Science,
Computer, Maths, and Sanskrit each
contains different number of pages.
Computer book contains fewer pages
than only two books. English book
contains more pages than Science book
but less than Sanskrit book. Science
book does not contain least pages.
Sanskrit book contains fewer pages than
Hindi book. The book which contain
third lowest pages contain 28 pages.
How many book(s) contain more pages
than Science book ?
(A) Four (B) Two
(C) Three (D) None of these
B8 g - Il fedl, fomm, sopy,
[ HAI GEhd Yeish H ITeRT-3TeTT g8l
1 T 7 | Y hl Tk U kol gl
&bl <hl T H A U8 BId & | S hl
qedeh H foeM sl gedeh H SHmEl oo
AEpd ! Tedh § A U8 & | fomm o6
Tk H W 98 TRl & | TR bl
qecsh | fedl <1 qedeh <l ol § 0 T
2 | 98 T o det aeE Hh 98 T,
IEH 28I E |
fepefl qecenl © TosT <l Teeh o 3ok
I8 8 ?
(A) =X
(C) o

(B) T _
(D) T8 G s T
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14.

15.

16.

In below shown figure, count the

number of triangles :
= ferame e o |, Bt < e i

(A) 26
(C) 28

(B) 27
(D) 30

From the given answer figures select the
one in which question figure is embedded.

& T I et § & 38 g ey
THq AffEa |

/A 752
Wl N B A
©) | | | WRRNAN

Choose the alternative which closely
resembles the water image of the given
combination.

39 forehed o1 == L STt fou T wieH <Y
STel BT THH 2 |

GRO98AP76ES

(A) CHa8VbARE?2

(B) CHK68VbA9ER2

(C) GYaBYbLAIE2

(D) CHKABAbLARES



17.

18.

19.

Select the alternative which represents |,
three out of the five given below figures |
which when fitted into each other would

form a complete square.

39 foshed 1 = S S A9 @ T8 i
SFRI § § A 1 wafee e 3 S |
g;ﬁ?lﬁﬁﬁ‘aﬁm@@aﬁaﬁ{@ﬁ)
S 7ab

1 2 3 4 S

g g

one in which question figure is
embedded.

(4) l (B)

©

Read the following information carefully

to answer the question given below :
(1) M * N means M is father of N.
(i) M — N means M is sister of N.
(ii1) M + N means M is mother of N.
(iv) M / N means M is brother of N.

In the expression Q + D * P/ N, how is

P related to Q ?
(A) Grandfather (B) Grandson

gc(‘% Daughter (D) Son
feu U g w1 IW W

frefeTRad STHehI 3l SAHYE UG
OM*NHIFEM, NI fuar g |
() M- NHIIEFEM, NHI5&1 2 |
(i) M+ NHTIEFEM, NHI AR |
(VyM/NHTHAIEM, NHITER |

96 Q+D*P/NTH, P, Q¥ fhd R

Gefd 2 9
(A) gr&T (B) e
(C) S (D) ST

From the given answer figures select the
f 21

& T e STt @ 38 gf e v |
R

20.

2.

In a town of 400 people, 185 speak
Tamil, 165 speak Punjabi, and 160
speak English. 40 speak both only
English and Tamil. 20 speak both only
Punjabi and Tamil. 10 speak both only
English and Punjabi. How many people
speak onléone language ?

400 ST < Tsh R H, 185 Afie dield &,
165 WIS Sleld &, 3R 160 TSI sietd
& | 40 et ITST SR A g Serd & |

20 heret ISHTefl AR dfiret gHI sield 8 | 10

el TS TR ISl ST Sietd & | fehaH
TN sheiel Weh HTST S1d & 2

(A) 310 (B) 201

(C) 210 (D) 301

Point B is 7 km to the west of Point A.
Point C is 12 km to the south of Point E.
Point A is 5 km to the east of Point C.
Point D is 8 km to the north of Point C.
Point G is 6 km to the west of Point D.
Point H is 14 km to the south of Point G.
If Shubham is standing 6 km to the east
of Point H and takes 1 hour to complete
6 km distance, then in what possible
time he would reach Point E, if taken the
shortest route ?

(A) 120 minutes (B) 180 minutes

(C) 115 minutes (D) 159 minutes
fog B, fig A < 7 fopefl ufyem 4 § | foig

C,ﬁ%;E 12 forrft gféqor @ 2 | foig A,
g Coh 5 fpfiq@ 6 2 | fig D, foig C o
8 Tepell ST A 3 | foig G, feig

H

TSl 8 3N 6 fortt it gt g HA | 1 g
ém%,?ﬁagﬁmﬁwﬁ%iggmq@m
ST 3Gk g U DBIET TET TofAT ST ?
(A) 120 fime (B) 180 e

(C) 115 e (D) 159 fime

Find suitable answer in place of question
mark.

ST % o T W 3TYH I GeT |
16:22::36: 7
(A) 43 (B) 26
(C) 53 (D) 46
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(Q. No. 23 and 24): 8 persons from A to Hsit ;

around a square table such that 2 persons sit in |
the middle of each of the sides. The persons |
sitting on one side of the table face the persons |
sitting exactly opposite to them on the i
opposite side of table. A sits on the immediate |
right of E. G faces the one who is second to
the left of B. 3 persons sit between A and G. !
Two persons sit between F and D (when :
counted from one side only), who is adjacent |
to E. Only one person sits between G and C
(when counted from one side only). A is not

adjacent to F.

(9.4. 23T 24) : A 8 H % % 8 ARG Th |
SR I o =1 317 39 TR Jad & o6 2 =l |
T ST o W H §3d § | WS % T AR 9 |
F ML IAEFSHE R IGHIEH |
i 1 AR A B T R A TR | A
MGHAT3AFREIFMDF I |
=fth 93 & (At Toh @ § I TH W), NEH |
Frar & | G 3 C 3 Ho et o o T B |
(et s 318 R T ) | A, 3 e 7

2l

23.  'Who among the following sits second to

the right of the one who faces E ?

@A) C (B) D
(C) F (D) Either CorD i
frfeifiad & & %M E 61 3 3q@ =t |
2 R A T e 0
(A) C (B) D
(C) F (D) I dr C AT D

24. How many persons sit between E and
F?
(A) 3 (B) 4
(©) 2 (D) None of these
E 3 F % 7e7 fohaq =afth 93 8 2
(A) 3 (B) 4
© 2 (D) $7H W 15 &
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25.

The school principal has received
complaints from parents about bullying
in the school yard during recess. He
wants to investigate and end this
situation as soon as possible, so he has
asked the recess aides to watch closely.
Which situation should the recess aides
report to the principal ?

(A) A girl is sitting glumly on a bench
reading a book and not interacting
with her peers.

(B) Four girls are surrounding another
girl and seem to have possession of
her backpack.

(C) Two boys are playing a one-on-one
game of basket ball and are arguing
over the last basket scored.

(D) Three boys are huddled over a
handheld video game, which isn’t
supposed to be on school grounds.

Thel o T ! HEATEHE o GIH
TR % T H g™ o SR | wrar-fuar
¥ ReprEd fiefl € | 98 Sog ¥ Sog 3@
feufa i St 3t 38 wuTH T =TEd F,
AT IHA AEATIhTST HETIeh bl SHIh &
TG o T a1 § | HEATIRTT TERhI hl
fopg ferfer <t g e st ot =fe 2
(A) T TSH! Teh 9 W Toh TohelTe 1 &l
2 3N o =wiEt & wr s a-<fa
TEHEE |
(B) =R ASfhal Th 3TN TTSehl b -
1 & 3R UET oTaT g foh 3T ashieh
TR el L fRT TR |

(C) T TISeh dHehe &icd ol Teh-Teh TA
T @ & 3N e Iiehe = W
TEHRE?E |

(D) H T &Y | T It difsar |
% TTQ 3T & I BT, S bl b
HeH H & g1 =1fT |



26.

Mrs. Dixa took a taxi to meet her three ;
friends for lunch. They were waiting for
her outside the restaurant when she |
pulled up in the car. She was so excited |
to see her friends that she left her bag in |
the taxi. As the taxi pulled away, she and |
her friends took notice of the license !
plate number so they would be able to :
identify the car when they called the taxi

company.

the plate starts out with the letter J.

2: Three of them agree that the plate

ends with 12L.

3:  Three of them think that the second
letter is X, and a different three :

think that the third letter is K.

The four license plate numbers below
represent what each of the four women |

thinks she saw. Which one is most likely § 59

st foam 3 < % fore a1l i wRfoRA |
3 frer ¥ forg et ot | 3 Teoite 3 AT |
3G 3AIR R @I off 9 98 HR | Fhl |
98 o Hefedl & few % fou sl |
IcTied off fob ST AT eRA & BIR T | |
I E R ueft W, IWH R IFh
TEferl 7 ATEEE wie §en W wH e |
qfep o ot HHT T BieT B TP

the license plate number of the taxi ?

&1 L G |

15 et g o & v e A

Th e < 8T J SRRA B2 |

2: 30 O W ggHad € 6 wie 12L &+

1 gHTH Bl 2 |
3: I ¥ Hrerdl 7 T g SR X 3,
3R 371 < Hirerctt & fob o 31eR K 7 |

= € T8 IR AEEE Wi @I euidl @
o = afgeniat o | weeh o= Hierdl! & fob |
3G9 T <@l | ot hl ATZEY Wi Tl

I 5t B hl GHTeT g9y MR § 2

(A) JXK 121 (B) JYK 12L
(C) JXK 12L (D) JXX 12L

27.

1: The four women seem to agree that 28.

If in a certain code language DESERT is
coded as EGVHTU, then how is BUDGET
coded in that same code language ?

afe foreft fifesra e wror & DESERT 1
EGVHTU o ¥4 ¥ %eag a1 ST 8, ai
w@wﬁBUDGETﬁ%ﬁw
fepa S 2

(A) CVGKGU (B) CWIGHU

(C) CWGIGU (D) CVIGUG

Count the number of quadrilaterals in the
following figure :

frferfaa smepfa o =gy <t e i
(A) 7 (B) 8
(©) 10 D) 12

Following question consists of a set of
three figures X, Y and Z showing a
sequence of folding of a piece of paper.
Figure Z shows the manner in which the
folded paper has been cut. Choose a
figure which most closely resembles the
unfolded form of figure Z from the four
answer figures given below.

X, Y 3R

frfafaa w1 9 &9 smefaa
Zaﬂwﬁz%aﬁw%@maﬁ

(o

HIg 1 3hH ST & | 3TThId Z 39 Tk
aﬁﬁam%ﬁaﬁg%ngﬁm

e | AT wwa@ﬁ
Ut ST g S 3TBf
gﬁwﬁ gﬁﬁaﬁgﬁ?ﬁﬁu

X) A9 2
Answer Figures :

wa@ﬁm

S —
(A) (B) O
) —
O O
© (D)
bd 1
MKP



30.

31.

32.

33.

If a mirror is placed on the line, then
which of the answer figures is the
correct image of the given figure ?

7 @ T T g Tt S, f 7 I
TRl H | B 3Tehfa & T8 IHiA
=1 TE wffes & 2

(A) (B)

0 ey
g

Which symbol will be on the face
opposite to the face with symbol * ?

* foIg 9ol Weteh o Tadid %eteh T I 91
o g 2

©) (D)

@ . $

- - " + $ + B +

(A) @ (B) 8

©) 3 (D) +

If mirror is placed on the line MN, then

which of the answer figures is the
correct image of the given figure ?

. MNQU@TGWQ,@?&:E
IR AR H H I H TRd &
3T T TR e & ?

M
SHNAGAI E
N

(A) 2H/ADAL
(C) TAGANHS

(B) IADAVH2
(D) IAGAVIHS

Arrange the following words as per the

order in dictionary :

fFfaflgd wTegi hl I o6 FH h
H H T :

1. Successor
3. Successful
5. Succession

(A) 4,5,3,2,1
(C) 473757271

2. Successive
4. Success

(B) 3,5,4,2,1
(D) 1,2,3,5,4

MKP
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34.

35.

36.

37.

From the given alternative words, select
the word which cannot be formed using
the letters of the given word :

feu v Jepfeuss St ¥ @ 97 weg T S
fou Tu weg % &R w1 TANT HTh Tl
TR ST Hehell & :

LEGALIZATION

(A) ALERT (B) GALLANT

(C) ALEGATION (D) NATAL

A man is performing yoga with his head
down and legs up. His face is towards
west, in which direction his left hand be ?

(A) North (B) East
(C) West (D) South
Th et o Fie 3t | FW b I

@ 7 | 3GH G@ UleH H AN 2,
39eh1 9T g1 forg feam§ 2 2

(A) 3T
(C) ufy=m

Mark the answer as per the code

provided below :

Assertion (A) : Clothes are not washed
properly in hard water.

Reason (R): Hard water contains many
minerals.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct and (R)
is not the correct explanation of (A).

(C) (A) is true but (R) 1s false.

(D) (A) is false but (R) is true. ]

el o1 712 e o STTHT I JAfehd i :

ARHYT (A) : H3X A T HUS 3leh o T
1Y T | ‘ .

T (R) : I A H 314eh HA B & |

(A) (A) 3R (R) T & & 71 (R), (A)
1 HE WERTI R |

(B) (A) 3R (R) GHI &l & 721 (R), (A)
1 Ul TIEHTI TR 2 |

(C) (A) &l 7, Wk (R) T § |

(D) (A) TTetd &, <ifehd (R) W&l 2 |

The average of numbers 0.64204,

0.64203, 0.64202, 0.64201 is

qear  0.64204, 0.64203,

0.64201 T 37rEd 2
(A) 0.64202 (B) 0.642021
(C) 0.642022 (D) 0.642025

0.64202,




38.

39.

40.

41.

42.

What day of the week was on February 14,
2012 ?

(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

14 ®LEd, 2012 1 GHTE o1 i 91 fe 21 2
(A) @R (B) TR

(C) TR (D) §EaR

If in a certain code language HOPEFUL
is coded as KLSVIFO, then how is
CAPTAIN coded in that same code
language ?

¢ foreft fafoed e Wit §§ HOPEFUL i
KLSVIFO%W*&%@TW% a1 3
% T H CAPTAINaﬁéséwﬁw
SITE ?

(A) FZSGZRO
(C) FZSGCLQ

(B) GEGSRDQ
(D) FZSGDRQ

Find suitable answer in the place of
question mark.

TEETE o o T T 3T IR greq |
392:15::521: ?

(A) 7 (B) 13

() 17 (D) 21

Choose the box that is formed from the
given sheet of paper (X).
& TS TSt o6 3t (X) | o S sl g |

X) 1 2 3 4
(A) 1 and 2 only
(C) 3 and 4 only

(A) Hael 1 3R 2
(C) %aet 3 3T 4

(B) 2 and 3 only
(D) 1 and 4 only
(B) =hadl 2 311 3
(D) ot 1 3R 4

H

Initially clock showed 1:30 PM, what :

will the time be after 1,44,356 minutes ?
TR W o"St ¥ 1:30 PM €9 ® 9,

1,44,356 e % ST =1 T8 81T 2
(A) 7:15 PM (B) 7:26 PM
(C) 7:30 PM (D) 8:00 PM

2
H
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43.

44.

Kunjan, Lila, Mehul, Nikunj, Om,
Priyank and Queen are sitting on a
circular dining table for a dinner. Queen
is not between Priyank and Mehul. Om
is neighbour of Kunjan and Nikun;j. Lila
is second to the left of Queen. Priyank is
to the immediate right of Kunjan. Who
is sitting to the immediate right of Lila ?

(A) Mehul (B) Priyank

(C) Kunjan (D) Queen

oM, oiia, Ugd, T, 3tm, TR 3k
FHH @H o ot T MR SEHT 2o
WS 7 | T, Bk 3R 7gd & &= T4l

%|3ﬁn por 311 fepet 1 Ugiet § | ofien
% A g | e, Ho

aﬁ%‘qﬁ%l 3 3 TR B B8 2 2

(A) ¥Ew (B) o

(C) P (D) =

A certain number of students are
standing in a straight line, and all of
them are facing north. Arundhati is 19"
from the right end of the line, and
Arvind is at the 15" position from the
left end of the line. Both, Arundhati and
Arvind interchange their Eositions, after
which Kirti who was 24"™ from the left
end is now at the 5 position to the left
of Arvind’s new position. How many
students are there in the line in total ?

(A) 45

(B) 47

(C) 49

(D) cannot be determined.

BT Sl T Ffveaa e s et T |

T B, 3N 3T auft 1 g@ I AR R |

reufd dfth o <@ B ¥ 199 TIH W 2,

IR aftfae ufth o 99 B A 159 TIH |

2| mﬁﬁaﬁaﬁﬁaﬁw
¥ sge e, fmmes arg Hifd st and

fﬁiﬁzﬁwm%ﬁmaﬁa%m

T ol R AR 59 TUH W R | Ui |

%ot fere BT & 2

(A) 45

(B) 47

(C) 49

(D) Treifea 2 foram s @ 3 |

MKP



45.

46.

47.

48.

Gamer Males who are Non-Dancer and |

Indian are represented by which number ?

RecTTeh e o1 -7 (k7 B) o |

Il &, fore g gro eeife e 8 2

Gamer FawE

1

—— Dancer T4
= Male 15

4 3

S | nicdian |

B) 7
(D) None/®Ts &l

(A) 5
(C) 10

Choose the box that is similar to the box

formed from the given sheet of paper (V).
39 Fied Wl g4 A1 feu T TSt i e @
T G (V) S IAE R |

E‘;EEE
e

(c) (d)

(A) (a) and (b) only

A (a) 3R (b)
(B) (c) and (d) only

Hae (c) 3T (d)
(©) (b), () and (d) only
o) ?Sm (1b>, (c) 3T (d)

only

Had (d)
At 3:30, the hour hand and the minute
hand of a clock form an angle of

3:30 &9, TSt Y T Hi 3% e &

T HIU ST 2 |
A) 60° B) 75°
EC) 90° ED) 100°

Find the missing number in the given
series following the same pattern.

< TS ST H EHH Y T FIAT B
FU G &A1 1T 1T |

15,17, 23, 35, 55, 85, ()

(A) 92 (B) 112

(C) 120 (D) 127

MKP
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49.

50.

In the question, a piece of paper is folded
and cut as shown below in the questions
figures. From the given OE‘[IOH figures,

indicate how it will appear when opened.
T H, TS o Th Zohe i HIGT 3TN el
T R, S fe e T T fe@mn
T g | few e foeew et @, wasy e
el ST T T <het fe@rs am |

= =
(A) (B)
() (D)

In the following question, statements are
given and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows the given statements, disregarding
commonly known facts.

Statements : All the bottles are boxes.
Some boxes are bags. Some bags are
suitcases.

Conclusions :

I.  Some bags are bottles.

II.  Some suitcases are boxes.

III. Some bottles are bags.

IV. Some bottles are suitcases.

(A) Only]I (B) Only II

C) OnlyIll _ (D) None of these

I Wﬁ%m g Eﬂ%ﬁ{qg
S T | ™

AT I TF AT & Wl g  Homg agai

T = Wdiid g &1 | sehs 3l ae 3R

ﬁuﬁ%aﬁﬁsﬁq%ﬁwﬁﬁﬁaﬁqm

T G deA1 <hl Ul id U, QU Y

T T dlfeheh ¥4 | HATR |

Y ; Tt Tl S 2 |

T AN E | T AN GLHha ¢ |

I IS AT e |

. $° Ghd §iag & |

1L FS Fiad I § |

Iv. hd & |

(A) I (B) had II

(©) i (D) T8 & 1S T

O



51.

52.

53.

Section—-B / YIT-§ .
Teacher Aptitude and Attitude / 37k Stftverwar o ifagha

Suppose a teacher asks students to submit a
home assignment. Students prepare the
assignment generally as written document
and submit to the teacher. Teacher
evaluates the assignments, writes his/her
comments/suggestions in the assignments,
and returns back to the students. How
message is conveyed in this situation ?

(A) Non - Verbal Communication

(B) Verbal Communication

(C) Intrapersonal Communication

(D) Interpersonal Commupication

HH ST foh Tk f1ereh o1 9 778 R ST
T o foTu gl 7 | B AMaR R foifaa
AT o €Y H 3TEEHE IR Hd & AR
Trereh ol ST R 2 | veten el R
qouehd BT 7, T BE H ST
feuqoft/gema feraar & 3R SE1 1 9|
e 8 | 39 feufa & wew 9 feam sman g 2
(A) R-Tifges goR (B) HiRges T=)X

(C) IREIRe §9R (D) 3idadithe TaR
Verbal communication
conveying message through
communication.

(A) personal appearance and oral
(B) oral and written

(C) written and facial expression
(D) oral and eye contact

Tftgs = o
Wy aREE
(A) SafmTa Iufefa 3 qiflgs
(B) HiRges 3R ferfga

(C) ferfaa 3t ==t <hi srfirearts
(D) Wi 3R = queh

technique is used to understand
nature and behaviour of students.
(A) Personal appearance
(B) Posture
(C) Gesture
(D) Eye contact

deh1eh 1 ITAN BET & WY
3 IR ! gHEH & foru fopan Siran 2 |
(A) SR Ul (B) Hal
(C) BE-uTd (D) 77 G4

mvolves

TR o HIE9H 9

2
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54.

35.

56.

57.

During the process of communication,
barrier creates faulty expressions,
poor translation, ambiguous words, and
inappropriate vocabulary.

(A) Physical (B) Socio—cultural
(C) Linguistic (D) Psychological
[SASIEY HAlshdl C{I{H EIRI

EPURIC] 3T oG AR
S el W%W% |

(A) (B) EHIS
(C) wTST-Haeft (D)

‘Oxy en is represented by O;.’
Which type of knowledge is it ?
(A) Procedural knowledge

(B) Metacognitive knowledge
(C) Conceptual knowledge
(D2 Factual knowledge

I O, G ST & I
g Tohg YR AT IH & 2
(A) ™

(B) TEIHICHS TH
(C) FehedATcHS TH
(D) qATcH IIH

Which type of communication helps
individuals and groups within an
organization to communicate for achieving
established organizational goals ?

(A) Interpersonal Communication

EB% Transpersonal Communication

C) Small group Communication

(D) Organizational Communication

[hd WK 1 HAR Th TS & HiW
FfRAT T TR B LA ST
A B UM HH b T FAG B H
TR AT 2 2

(A) W@%W(B) ERCRIGER I
(C) MUY T=R (D) HISATcHe H9R
Which of the following sentence is
incorrect in context to learning ?

(A) Learning is Unitary.
Egg Learning 1s individual and not social.

Learning modifies the behaviour of
(D) Learning helps to make choices in life.
HiEH % HeH H HHRad |

the individual.
Eacike

TR TTEA & 2

(A) HRGHT ThicHs # |

(B) ST 2, HHT T4 |

(C) HimT =afth & R i Gefed
HHAE | ‘

(D) g Sfar § FHTe i T Heg i & |

MKP
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58.

59.

60.

MKP

Which of the following sentence is

correct for ‘Teaching’ ?

(B) Concerned with only growth of an |

individual.

(C) Form of intrapersonal influence

aimed at changing the behaviour.
(D) Simulation, Guidance,
and Encoura ement of Learning.

f\FNH%‘T% g1 91 AT
?

ERIEEIRSY)

(D) HRE" 1 37T, TRTeH, feam 3t
BIRSIES| !

In psychology, awareness is a concept

about

(A) the state of knowing, perceiving

and being cognizant of events
(B)
(C) State of being aware
(D) None of these
J-I"|||‘=|$||"| 'E[ S aehdl
LT & |

(B)
o e
(D) S8 © IS T

Teaching is not effective

(A) students are actively involved

(B) it is well planned

(D) communication is not effectively :

reciprocating

Treqor gl et & o1&

(A) B HishI &G 8 AL |
(B) I8 21
©)

(D) §=R

P2

Direction :

(M!!I!!IIIIIII%
(B) $RmEdaaRa | |

(©) Wﬂaﬁwﬁ%ﬁwﬁwﬁiﬁ

_ saiw | g

(A) ‘azmaﬁﬁm:ﬁ I 3R A
feufa

when ¢

61.

62.

14
|Yellow = 3M | Green=2M | Blue= 1M |

is the major source of unhealthy
relationships.
(A) Anxiety
(B) Depression
©)
(D) Institutional stress
ITEATEHT Tl <1 IHE HId B |
(A) "silae
(B) forram
(C) FEATTA STThCT

(D) FEATTA qTel

The nature and quality of interpersonal
relationships greatly influence the

and of an institution.

(A) environment, working

(B) environment, development

(C) environment, ethos

(D) environment, life

JRET e Tl hi e
* 3R ;@&[ AT |

(A) %—
(B) QATATIRIT

(C) CIRISECIS t"ll°b|‘d|(
(D) STATaRel, e

Which hierarchy follows top- bottom
approach in an educational institution for

decision making ?
(A) #

(B) Principal, Teacher, Director and
Management

(C) Management, Director, Principal
and Teacher

(D) Teacher, Principal, Director,
Management

fepett Toreqom awm 7 fofg o <6 fote e

o1 gghA M- T gf¥ehror w1 e

AT 2 2

(A)

(B) SUMIEATT®, e, Hemeh 3R
SCRE]

(C) yaed, fiegeh, vumIEMsS: 3R
FAAIH .

(D) ALY, T, e, Jaem




64.

65.

66.

67.

Which are the two significant and crucial
factors for an Interpersonal Relations ?
(A) honesty and trust

EB% trust and respect

C) honesty and judgement

(D) trust and res%ect & honesty and
Judgement bot

% fow @ Aeaqot 3k
ﬁmﬁmmaﬁqﬁ%‘?
(A) SAMERY 3R forgama
(B) Toram™ 3T o0yH
(C) $HFErd 3R i
(D) Tagam@ 3 g q1 HME 3R
Tt gt

of the institution is a bridge to
maintain ~ appropriate  professional
relationships between staff members and
management.

(A) Head (B) Supervisor

(C) Director (D) Co-ordinator
TEIH HHER T
YU & S 3rad SAGHTR— TaY S0
T % U T &g 2 |

(A) y9E (B) WisiEih

© (D) 9H<Ih

‘The SDG-4 education 2023 framework
on education emphasizes the inclusion of
modalities for the foundation of quality
education.’

What is meant by SDG-4 ?

(A) Social Development Goal

(B) Sustainable Development Goal

(C) Standard Development Goal

(D) System Development Goal
Riem W SDG-4 & 2023 1 @rE
Torgargut e & g % fore dR-adeni
1 A I WAL @12 |’

SDG—4 %1 #9131 7 2

(A) 9RIA edeiyHe e

(B) Al sAiHC Yl

(C) Teg STaIHE e

(D) ToreeH Saere e

“It is the responsibility of the to
keep relationships with students focussed
on Pedagogical goals and academic
requirements”
(A) institute
(C) students _
“NegfoTeh AL

(B) head
(D) teacher

m%@awﬁswa‘waﬁmmg

1 fortier 2 1
(A) BEIH
(C) 3™

(B) HEE
(D) TS

2
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68.

69.

70.

Which of the following are the signs of

fostering healthy interpersonal

relationships ?

(A) mutual  respect and  shared
responsibility

(B) mutual commitment to goals
(C) no willingness to negotiate and
engage in dialogue

(D) mutual respect and  shared
responsibility & mutual
commitment to goals both

frefafed 9 9 ®F 9 @

TET D! T ¢ o Tehd 8 ?

(A) ITER T 3R AT

(B) ofe & feTq uredieh Sfdsiga

(C) STaeid i TR Sa=id § SMHA B4
1 1S TN T 2 |

(D) WER T 3R gren qen
AL o foTT area e uﬁaam (5l

The teacher is responsible for maintaining

(or acquiring)  not only in areas of

personal interest but in all areas relevant

to course goals or objectives.
(A) relations with others
(B) pedagogical knowledge
(C) well defined standards

D bject t
) su Jec comge en?%[é;?ﬁaﬁﬁaﬁcs

H|d€49hl-| ﬁ? AL AT IeAT o TIT TTE(Th
Tt & 1 1 ST T (I I
) % fore Fer 2 |

(A) THU & 91 TaY

(B) St&forsh JH

(C) 7=t Ot & uferira Hreni

(D) Tera Jan

‘A is based upon specialized
study and training; it provides skilled
service and Guidance for a definite
purpose to a limited section of the
population for a limited period of time
and can be practised independently or

within an institution.
(A) Profession

(C) Trainin

AT 3 IfNeqor W
ARG B ; I8 Hiftya 7afd o fou s
& T Hiftd ol & fofw weh Ffeea e &
forg TaT 3R ANIGYH YGH T 8
IR 30 Toad ®9 9 7 fhH) gean & ofiaw
ST TR ST Eehal @ |
(A) UM (B) Hiendt
(C) gfreqor (D) BHE

(B) Job
(D) Work

MKP
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71.

72.

73.

74.

Wthh of these is not a characteristic of
rofession ?

( ) A professwn renders an essential
social service.

(B) A profession demands continuous
in-service training of its members.

C) A profession involves a code of ethics.

D) A profession does not demand
Egssesswn of a body of specialized

owledge and extended practical

tramm
%Wﬁ%ﬁwﬁ%v
(A) oe40|<-||e4 JEYTH IS U1 M
HATR |
(B) g™ 319 aauﬁ & @
eTehTeil TRreqor shl /i ohidn 2 |
(€) oqcu-anrdndlw‘%m‘mﬁﬁ% |
(D) ™ Tereatfa
IET EI'F?[?JUT & & & AT
T AT T AT R |
Which of the following not
characteristic of a teaching professwn ?

A) Involvement of intellectual operation
B) Transforming raw material mto a
(C) Possessing

practical and definite end
educationally
communicable technique
(D) Lack of self-organization
TfetRaa i ot f3reqor SraEm i

Tt 7 8 2

(A) Eﬁmw T 31feret g |

(B) %= HIA HI Th ARG
37d H SEeHT |

(C) et &9 8 Tl qehfieh W |

(D) SATCH-TEH <! HHT |

“Professional development of teachers is

not an event, rather 1t is a process.” This

process is in nature.

(A) static ~ (B) continuous

(C) rapid (D) slow

“f31erepl 1 TSRS T

& 7, dfcsh I8 T URAT & |7 T8
Thfd 0 2|

(A) fer (B)

(C) @ (D) Eiet

In an Educational institution,
commitment to the well-being and
development of all pupils is essentially
demonstrated by a

A) Teacher

C) Management (D

el

r1n01pa1
Director

U A weyE A @t fomifRi %
el 3 foemma & ufa gfdergar et

R Yefid Sl ST 2 |
(B) SYMTEATTH
(D)

w9 Y Th
(A) =TS
(C) JaeH

MKP
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75.

76.

77.

Which statements from the below does

not show commitment of teacher

towards pupils and pupil learning ?

(A) Teachers treat all pupils inequitably
and with disrespect.

(B) Teachers treat all pupils equitably
and with respect.

(C) Teachers treat all pupils with respect.

% Teachers treat all plgils equitably.

FHUA Y

feremfea 3ﬁ'{ forenfon & stferm & ufg

freres 1 wfergan 1 yefia T8 w2 2

(A) e Tof forenfor & @ s
T Y 37 AT o A1 T8 L ¢ |

(B) remeh auft ferenfo < e oo &y
T 3TN T o F1 STER L & |

(C) 3reamaes aeft foenfoRn < arer amm
 H1Y TG HLd 7 |

(D) ALMTH TH e & ar quH
FTER A & |

Teacher’s commitment to Students’
well-being and learning is not through

(A) positive influence

(B) professional judgement
(C) empathy in practice
(D) maintaining strictness

Hed 3T HRe- o gl fretes i
Tfaegar S IR R |

(A) HhRIHS AT
(B) %rﬁatﬁvh

(C) 31| ¥ guryfd
(D) T 91T &1

What is STEM curriculum ?

(A) Science Technology Education &
Mathematics

(B) Science Teaching Evaluation &
Mathematics

(C) Science Technology Engineering &
Mathematics

(D) Sociology Technology Education &
Mathematics

THESTH (STEM) WTGe3HH 1 2 2

(A) TTEE TS USYhM TS
(B) Waﬁﬂ@w@ﬁﬂﬁﬁw

(C) arsH ERIIERITU IS
(D) TIREIEATST JaTats TsgehsH Ug
o

[Yellow = 3M | Green=2M | Blue = 1M |




78.

79.

80.

variations ~ are  important
consideration  with  reference to

dependence-independence.
(A) Attitude (B) Aptitude

C) Age (D) Interest
%n%w—wﬁw % "M W

fafereramd TEwyul foem 2 |
(A) EiefR (B) Jr=rr
(C) 31y (D) fecr=e

How does a student get socially mature ?
(A) A student can become socially
matured when he is exposed to a
few people with whom he/she is
comfortable and can develop his
thoughts accordingly.

A student can become socially
matured when he is exposed to
those people who are socially
mature so that he can pattern his
behaviour accordingly.

A student can become socially
matured when he is exposed to self
and develop an understanding of
society on his own.

(D) None ofthese

Teh B GTATh ¥ 8 GTere 8 2idl 8 2
(A) Toh SH GHIIEh €9 8 TRIad d9 gl Fehdl
%wagw@vﬁﬁ%wj%?m%
1Y T8 TES IR

A7 foremt =h! forepfird st EerdT 2 |
(B) @mwﬁmwﬁqﬁm.aﬁg
Thdl 3 I 98_37 AN U H
AT B S HHIN &9 § UNded &
qTfeh I8 3Heh FTER I T8N i

3IH} o ITEY ST T |

(C) Teh BT A1k €9 § qHusd a«

Yehdl & 9 98 W & HUeh H 37Tl
39 S T EHS <hl gHe forehfia

FAZ|
(D) $TH © IS T
During the process of students
learn to live up to the expectations of the
society in which they live.
(A) Social Adjustment
B) Social Maturity
EC% Social Growth
(D) Social Justice

<l

(B)

©)

: R B 3 TS A
T G 3 Higd & o I & 2 |
(A) TR TS
(B) TSR TRl
(©)
(D)

=10

2
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81.

82.

83.

helps student to know what is
desirable and expected from him.
(A) Providing motivation
(B) Providing a strict &
atmosphere
(C) Allowing students to do as per their
wish (Flexible atmosphere)
(D) Providing appropriate role models
B I I8 I ° Heg T 8 Tk

38 1 ST 3 A B |

(A) SO S&T el

(B) |& 3R WAfd ATdTaer g T

(C) BT I ITh! TTIT o STTEAR B i
AT &1 | (faumsies aramaon)

(D) 39 SRUTETT M T |

targeted

Who introduced ‘Play way’ method ?
(A) Caldwell Cook (B) Froebel

(C) Montessori (D) Blooms

fPER ™ T (‘Play way’) REATC |

S[&3Td <hl 2
(A) HeSadHh  (B) ised
(C) HieHd (D) =

Which factor influences that students
studying in a secondary school
understand that society does not expect
him to regress to childhood behaviour at
this age ?

(A) Concept of dependence-independence
(B) Self-control

(C) Stress

(D) Social maturity

S T HRH YTfad HT g 6 T
ethen foene™ ¥ U a1 15 I8 gHgl
b U 379 39 3Y U S99 & HAER 6
T e hl Ife e har g ?

(A) Tl i sEumen

(B) e

(C) 7@

(D) | g

MKP
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84. Match the following :
List -1 List — 11
(Parameters) (Description)
a. Flexibility 1. Ability to set clear

b. Holding 2.
people
accountable

c. Managing 3.
Pupils

d. Passion for 4.

expectations and
parameters for
performance
Ability and willingness
to adapt to the needs of
situations and change
tactics
Ability to support
gupils and to help them
ecome confident
independent learner
ability to provide clear

Learning direction and to
enthuse and motivate
them
frefeTia sl gufetd shifer
Tt - 1 -1I
(HUCS) )
a. THEAT 1. Y3 % ol T IeTE 3R
TTYCST ol TS i hi &
b, WAM®m 2. Uy H S b
TR I B 3 WA see
ST 1 &I 3R 3BT
c. foenfRiEt 3. oo < gerar w0 3R
EARSELE] : ITTerfeRaTEt T faremeff
I T Heg ohid <hl &7
d. HEaHr 4. Wy fon Yem & 3 3%
ST FHH AR UG HA
! &Il
(A) a-2,b-1,c-4,d-3
(B) b-1,c-3,d-2,a-4
(C) ¢-3,d-4,a-1,b-2
(D) d-4,a-2, b-3,c-1
85. Which of the followmg defines the
concept of leadership ? '
(A) influence, crucial, expectations
(B) inﬂuence, expectations, relationships
(C) influence, relationships, voluntary
effort
(D) influence, voluntary effort, goal
achievement
T § T A ohl STFURM
TR LT @ 2 ‘
(A) w¥TE, Foeres, 3Efd
(B) ¥, 3HIq, 994
(C) 9y1d, 994, TIE
(D) 99T, T, T STAred
MKP
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86.

87.

In  leadership, transforms
potential into reality.
(A) analyst (B) catalyst

(C) educationalist (D) facilitator

icdl_H, &A1
§CA AT 2 |
(A) fosems (B) 3SRH
(C) TRreammeht (D) glagmsera
Match the following :
List— 1 List — II
(Leadership Myth)  (Description)
a. Everyonecanbea i Rarely
leader.
b. Leaders can deliver ii. Not
results. necessarily
c. People who getto iii. Not always
the top becomes
leader.
d. Leaders are great  iv. Not True
coaches.
frfeTRe sl guferd shife
-1 -1I
forereh) )
a. g{ S Hhdl i G Bl HHl
|
b. T AU TR S | ii. aﬁmw
c ﬁmawwgaﬁmﬁ 1. @'-‘FITW
JAT AR |

d. gmnmsrﬁrraﬂa‘aﬁ% iv. HEITER |
|

N A
(B) b- i, - iii, d -iv, a - ii
(C) a-1iv, b - iii, c- ii, d-i
(D) c -, d - ii, a -iii, d — i

Use of ICT for quality education was
highlighted by
(A) NCF-2005
(C) NEP-1968
Tre

(B) NCF-2009
(D) NEP-2020
% T amgEdt (ICT) &
LIy BT TR TST STeAT 71 2T |

(A) THHITH (NCF) -2005

(B) TIET® (NCF) -2009

(C) (NEP)- 1968

(D) TIEHT (NEP)-2020

[Yellow = 3M | Green=2M | Blue = IM |




89. Below given are the strong basis for
leadershlp development Match List - 1
with List II
List-1 List-1I

a. Responsible 1. Possess a long term plan
Leaders for their school as well as
career and personal life.
b. Focus ii. Take psychological
ownerships for their actions.
c. Ideation iii. Needs recognition that
goes with success.
d. Credibility  iv. constantly feeding their
minds with new ideas.
1 feu e T forshr o foT HSte 3TTeR

| gE-1 1 g 11 & ghfera 1T ;

-11
a. l&?l;ga'l'{
ar

b. higd

HET e o |
c. ST iii. U89 <h &L BT &
HOHTIT 3 H1Y ST 2 |
d. foeerfiad  iv. AR 34 femm ﬁ L
foamii @ wd @ |
A)a-i,b-1c-1v,d-1iil
B) b-ii,c-1,d-iv,a-ii
C -11d-1a-1vb-111
D d-n a-1,b-1v,c—1i
90. Which of the follow1n% are the
characteristics of leadership in an
educational system ?

i.  lead by example and inspiration.

ii. guide personal programs, but rely

_on his decision.

iii. produce cohesiveness  without
which co-operation is impossible.

iv. don’t resolve differences which arise in
growing organisation because priority is
the growth of the organization.

v. contribute to the group by
advancm%useﬁll suggestions.

T wm S

e hl 87 P

L 34 éIUI Elqc_cl | )

ii. SANRTA HEIRHI ] WIGIN i,
SIfeR 3o et Wﬂﬁwaﬁ |

iii., GASE 30 H fges foqr g
JEVE R |

iv. e §C EIS H 30 B alct Hawal i
BA T L HiTeh TR TS R g ® |

v. WA el i AR SgreR Hg |
e

A) BNV B) 1i, iii, v

EC 1, 111, V D) i, iii, iv

O

s S Al

STTSHIfee! 3R SAfETd Sfied & |
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91.

92.

93.

9.

The communication of leader’s vision,
making his/her dreams apparent to
others and aligning people with them is

(A) Management of Attention
(B) Management of Meaning
(C) Management of Trust
%la)_[) Management of Self

1 QERIAT T FER, I A I
GBI o HHA Tohe HET 3R AT BT I
EICESIES 2 | .

(A) B I SSET  (B) 31 1 S&E
(C) 1 9881 (D) T T JaUH
Which are the most essential factors in
leadership ?

EA? follower, leader and situation
follower, situation
(C) leader,

communication
communication
(D) leader, follower,

commun1cat1on
I H FE 3TE9I% SN hiF H & ?

and
situation and

situation and

(D) i, 3T,

Evaluation that monitors the learning
progress during teaching is

(A) Summative Evaluation

(B) Placement Evaluation

(C) Formative Evaluation

%)) Diagnosis Evaluation

T Hige 6wl skl T
FA AR 7|
(A) INTICHb HHTeh
(B) TIEHE HeoITeh

(C) 3feRa (formative) HeTeh

(D) SeTieh Femehd

According to Kohlberg a teacher can
instill moral values in students by:

(A) Laying clean rules of behaviour

(B) Giving strict punishment

(C) Discussing moral issues with them

(D) Giving 1mportance to religious
teaching
°h|c'1®|‘l %3 %-H{ ush freres foenfoR o
gl At
W% |
(A) SRR & e 90 =M |
(B) el Gl el |

(C) sqésma?rﬁesgaqwatW|
(D) fifes f31e1or <l Tged &1 |

MKP
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95.

96.

97.

The word communication is derived from
latin word ‘communis’ means

(A) To make common
(B) To share

(C) To exchange

(D) To know

%JI ]?l‘f ;ﬁq Wﬂgmﬁa (comllnunls) |

(A) IR §H o foTu
(B) TS T % feTg
(C) fafima % & o
(D) Td & & few

How students can decode the message
sent by an audio programme ?

(A) Through visualization

(B) Through demonstration

(C) Through understanding

(D) Through interpretation

B Th JAMSAT TUH GRT WSl 7T T I
FHITTATG HH L Thd & ?

(A) GRATEEIRA b HIH &

(B) eI & WIeH

(C) 99z & W= o

(D) ST & HIEqH o

Given below are the components of
communication process. Select the
appropriate sequence.

(A) sender, receiver, feedback, noise

(B) sender, receiver, medium, noise,
feedback

(C) sender, message, medium, receiver

(D) sender, message,
receiver, feedback, noise

TR sk o Heeh 1 U Y & | 3ugeh
¥ 1 I A |

(A) 3k, STHehat, Ffagfy, st

(B) Sk, THehdl, TTeqd, IR, Wfagfy
(C) ek, T3, AL, JTHhAT

(D) Eﬁfﬁ T, HTeA, yTHehal, Jfigfy,

medium,

MKP
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98.

99.

100.

the
by the

Communication  starts  with

conceptualization and

sender.

(A) development of an idea

(B) development of message

(C) transmission of message

(D) receiving of message

TR Y9 g Hhedd AR W I®

BT R |

(A) foem = fap@ (B) a3 faehd

(C) B BT (D) T ITH BT

communication carefully

plans the message and delivers it

effectively so as to invoke self-

communication among students.

(A) Intrapersonal (B) Verbal

(C) Non-verbal (D) Interpersonal
H HIELH 8 T AT AT

ST & 3R S el & § uge @

BT o & HATH-TIR BT ATETH o

ST Heh |
(B) Hifgsh

(A) IREIER
(C) TR-wiRgesh (D) SAdadiheh

Suppose you plan to teach a content
(concept) using an audio programme.
Then, you have to write the script
required for the audio programme. So,
the content to be transacted in the
classroom is into script.

(A) Encoded

(B) Decoded

(C) Both Encoded and Decoded

(D) none of these

e e for 319w 3rifeat A 5

3T ek Ueh foNIas] (JIEUROM) i

g hl ISl ST 1%{% | T, TRt

Jitea Tium & fou stavaes fafu fog

arft | gafore, e § @ oW aret g
fafudg

(A) ThISS

(B) Eispiss

(C) QI T=hIss 3R Eihiss

(D) 3T U IS T

[Yellow = 3M | Green=2M | Blue = IM |




101.

102.

103.

104.

105.

106.

Section—-C / -9
General Awareness / 9THI STTRschdl

Which of the following presents the |

most significant feature of the Indus

Valley civilization ?

(A) Burnt brick buildings

(B) First true arches

(C) Buildings of worship

(D) Art and architecture

MEfIRad 4 O S a1 &y =t g 6
\m—ogi FerIeraT S shiaT @ ?

(A) Sefl g3 92 o1 3ARd

(B) 9g dixdldeh Halld

(C) YT <l 3ARA

(D) el 3TN ATEhel

The Brahmanas are books that deal with

(A) the Bhakti theory (B) ritualism

(C) yoga _ _ (D) meditation
STRI0 71 of qEY g
(A) v faga @ (B) bSO
(C) Iy (D) &= |

The paintings of Ajanta depict stories of the
(A) Ramayana (B) Mahabharata

(C) Jatakas D) Panchatantra
ST b Tor Teherehl I b @ ?
(A) THEIT (B) HEWId

(C) Sdsh (D) gdIaA

Freedom fighter Shri Surajmal Basaniya
belonged to .

(A) Bikaner (B) Banswara

(C) Jaisalmer (D) Jodhpur
T T o A S Y|

(A) SRR (B) Sf&aret

(C) TR (D) S

The Ashoka pillar at Allahabad provides
information about the reign of

(A) Chandragupta Maurya

(B) Chandragupta I

(C) Samudragupta

(D) Chandragupta Il =~

SATRISIG hl ATMh &Y TohHeh IMETHIA

S H FRI TG L & ?

(A) =5 o (B) =IZTH T

(C) §95TH (D) =I5 feefia
The mighty gateways found at the
temples of South India are called

(A) Shikhars (B) Gopurams

(C) Minaras __(D)_None o;_ltﬁhese

<& wmd L
Rt TIRTgR HaATd &

(A) firan (B) M ,
(C) AR (D) 38 ¥ 1S A&l

21

107.

108.

109.

110.

Which of the following ruler known as

“Abhinav Bhartacharya” ?

(A) Rana Pratap

(B) Rana Kumbha

(C) Hem Chandra Vikramaditya

(D) Maharaja Suraj Mal

MHfRgd 9 @ fopd s @1 “oAfiHa

< T ST ST 8 2

(A) T A

EREe

(C) BH=G TIshATIC

(D) RIS HLHA

The ‘August Offer’ of 1940 sought to

conciliate the Congress by guaranteeing

(A) the setting up of a representative
Indian body to frame a new
constitution.

(B) government’s assurance to protect
the political rights of minorities.

(C) that there would be no partition of
India.

(D) that separate electorates would not be
provided for the degressed classes.

1940 o T =T’ Y T

THL BT T GHSAT i hl hIRIT hl |

(A) Th 1 GiggE s & fou
gfafter YR Fesm <t e

(B) ITCHEIhT o ToiHITde STMRBRT <hi
7871 & foTu G 1 3TTeeTed

(C) YRA HIHE faamATdi grm

(D) efeta =Tt & fotu 31 fatas Hed
e gl fohaT ST

The northernmost limit of India is

(A) 36°4'N latitude (B) 37°8'N latitude

(C) 37°6'N latitude (D) 36°12'N latitude

WA shi e I Htm

(A) 36°4' N T

(B) 37° 8 N Jr&ia

(C) 37°6' N et

(D) 36° 12' N 37T

World’s Longest Highway Tunnel above
10,000 Feet located on which national
highway ?

(A) NH 3 (B) NH 8

(C) NH 12 (D) NH 18

10,000 e & %3; fowa &1 @;ﬁ
TSTHTT GUT Tehy {SHTT I ?
(A) TSR To@E 3 (B) T Twmwi 8
(C) TEHE TMTT 12 (D) TEH THETT 18

MKP




111.

112.

113.

114.

115.

What is the most important characteristic
of the islands (Indian) located in the
Arabian Sea ?
(A) They are all very small in size.
gg% They are all of coral origin.

D

They have a very dry climate.
They are extendedy arts of the mainland.
3 |R H e ‘gﬁu%
fersrerer = & 2

I (M) < T
(A) 9Ef JTHRH TEA B 2 |
(B) A gt yaT g h # |
(C) 3 U qg; 3k T 3 |
(D) & & YK o fereatia fesdi € |

In the heart of the Intertropical
Convergence Zone in the northwest, the
dry and hot winds known as ° ’
A) Loo B) Mango Shower
C) Nor Westers (D) Blossom Wind

AT

IR - T
&7 % e H, Y SR T EEIs H
‘ o &Y H SIHT A1 3 |

A) 7 (B) T 3me

(C) AR " (D) sy fors

India is the world’s largest producer of
(A) Groundnut (B) Wheat
(C) Rice (D) Pulses
arid bl
(A) (B) & _
(D) gredi

(C) =

In which of the following states,

Tumallapalle, where huge reserves of

Uranium are found, is situated ?

A) Jharkhand (B) Kerala

C) Tamil Nadu__ (D) Andhra Pradesh
i , STl [ T S U1

ST 8, Fefetiaa o & fore s 1 fra 2 2

(A) @S

©)

Which of the following state has area-
wise the largest forest cover in the
country as per FSI 2021 ?

(A) Madhya Pradesh

(B) Gujarat

(C) Karnataka

(D) Andhra Pradesh =~ =~ _
FSI 2021 % T98R, ffafaa 4 9 frg

TS § 8% o (@919 O <31 1 Tad o<l

TTEAR?
(B) TSI

(A) T TeE
(C) &1eh (D) 3™

<l ES

MKP
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116.

117.

118.

119.

120.

121.

The Ahom tribes migrated from

(A) Sri Lanka (B) Afghanistan
(C) Myanmar, = (D) Iran

JTEM ST hal & JaTiad g5 ?

(A) Hieent (B) TRIT-E
(C) =R (D) S

Which of the following was the first
Indian woman who went into space ?

A) Shirisha Bandla (B) Sunita Williams
©) Koneru.Hu%w (D) Kalpana Chawla
H Y %M Tgell WA Afge ot

ST 37qfey | g oft 2
(A) Frfmrseen  (B) gtar faferrm
(D) hedT Irael

(C) hi+e gt

Who of the following never became an
Acting President ?

A) V.V.Giri EB) Zakir Hussain
C) B.D. Jatti D) M. Hidayatullah
T ¥ o wfi HriaEs Tgafd

ERICEIN
(A) =t file (B) it &M
(C) =&t St (D) T,

Who of the following ladies is popularly
known as “Grand Old Lady” of the
independence movement ?
(A) Sarojini Naidu
(B) Sucheta Kripalani
(C) Aruna Asaf Ali
(D) (Arrlnie Besant - )
MefRad § & forg Afganl s e
MG ! “Ug 3eg T & €9 H FTHT
ST 3 2
(A) TG TRIg. (B) el Fuar
(C) 3TN 3T 3Tef(D) TH s
Which person is called “Bird Man of India” ?
(A) Salim Ali
(B) Dr. Rahendra Prasad
(C) Dr. Srikrishna Singh
%3_;){ Salman Khan

Seh % “WId o1 58 HA” gl SHTell & ?
(A) T sl | (B) = W3 TR
(C) S #ipwn f&g (D) TwH @H
Amjad Ali Khan is associated with

which of the following musical
instruments ?

A) Guitar B) Veena

C) Sitar D) Sarod

IHSIE 3t WM FHekeTiad | 9 fopdl ame
PERKEIRCRN
(B) oum

(A) fer
foan (D) &g



122.

123.

124.

125.

126.

127.

Yamini Krishnamurti is an . 128.

accomplished exponent of i
EA Kathak EB% Bharatnatyam
C) Odisi D) None of these !

fogor wrfcrreeh &

(A) HUH (B) WHIEEH B
(C) anfsehtshr (D) FHIABS T |

is famously known as Flying Sikh.
(A) Maninder Sin]%h(B) Yuvraj Singh

(C) Sandeep Singh (D) Milkha Singh |}
ﬁa%&mwiﬁw%@ﬁsw
IS |

A) e i B g
() v (D) P

The first Indian Scientist to win a Nobel 129.

Prize was

A) Amartya Sen

B) C.V. Raman

C) Hargobind Khorana

D) Subrahmanyan Chandrasekhar,
IR RSN IR I R
(A) 39 B4 (B) #.&ft. W
(C D) gsHUI :
Wﬁo is called as Shakespeare of India ?
A§ Mahakavi Kalidas

B) Rabindranath Tagore

]()3 Mother Teresa

Bharathiyar
WW@W‘%&T%@WW% ?

(A) HERH g™ (B) gy o |
(C) Tk & (D) WRIRR
Which of the following is the primary ¢
agenda of the Kyoto Protocol ?
(A) Control anthropogenic sources of :

reenhouse gases
EB; egulation of hazardous wastes

C) Regulate the production of nuclear :

enereg ' '
D) Regulation of Global warming_
%@%ﬁ@ﬂﬁ T D 1 FET Terhid hl
maﬁm@m% - o
(A) HERE | & AHeSd @idi @l

frba =t | ;

(B) @'d’l‘-ﬂiﬁw 34;&@ =3 %fﬁﬁam =
(C) 9w Scqred < fafafaa sl |
(Dg TS AT ohT et
Which are the main pillars of “Namami
Gange” project ?
A) Sewerage Treatment Infrastructure |
B) River-Front Development
C) River-Surface Cleaning
D) All of these . ]
T T AT S R T R A E?
(A) HA TR ATIRHA-F=HT :
(B) Tat-the faspm
(C) TR - we &1
(D) A=t
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130.

L 131

What is Ramsar Conservation ?

(A) It is about conservation and wise
use of wetlands.

(B) It is about conservation of forests.

(C) It is about conservation of mineral
resources.

(D) None of these

wmww%gg N

INEHE LG L& |3|33F>3?i
( )‘mﬁﬂ%aﬁﬁ%l

(B) g I T H TR AR |

(C) ¥ Gl FETEAT & TR & TR A2 |
(D) $H & g el

Which of the following Acts, deals with

the rights of the communities that dwell

in forest over land and other resources ?
(A) Indian Forest Act, 1927

(B) Forest Rights Act (FRA), 2006

(C) Indian Forest Amendment Act, 2019

%D) None of these
H 8 s 1 srfufm, i 3R

3T TG O ST § T& aTel FHCRIT
YRR & HaIed & 2

(A) YR o= 3rfafm, 1927

(B) a9 MR SATEH(FRA), 2006
(C) Wit = Jwmier Jrferem, 2019
(D) ¥ & rg T

Which of the following is the
convention to protect ozone layer ?

(A) Basel Convention

(B) Bonn Convention

(C) Vienna Convention

(D) None of these )
ITSH TG ! 187 < o7 F=fafea & &
HH T T 8 ?

(A) SEAHEEH  (B) S T
(C) femTawe™ (D) 78 8 &g &l

Which of these gases is not permitted to
be released beyond certain limits by the
Prevention and Control of Pollution Act

by the Government ?
(A) Sulphur dioxide (B) Carbon dioxide

(C). Nitrogen (D) None of these
3?% Y ford 19 ] TR g JguuT fAam
3R frmmr Afafrm gro ffvea w9
3fereh AT ot T IR TE B 7

(A) HeH SIS

(B) hIsH SEHTFES

© T

(D) THIBET

MKP



132.

133.

134.

135.

136.

What is the impact of climate change on
forests ?
A) Increased biodiversity
B) Increased productivity )
C) Increased carbon sequestration
D) Increased wildfires and pest outbreaks
1 S W T TS S ?
(A) Sa-fafaear & 9fg
(B) Ieareshat H g
(C) hTeH YR § gfg ‘
(D) ST ol 3TFT 3TN hie o Thid H I

Acid rain corrodes the marble of the
monument. The phenomenon is also

called .
(A) Marble growth (B) Marble evolution
(C) Marble cancer (D) Marble warp

AT Th o TWHEL i G
LA & | T H I BT AT E |
(A) TR ILE  (B) SHOR e
(C) TR (D) TR

Which of the following is not a heritage
site as per UNESCO list ?

(A) Keoladeo National Park

(B) Jaipur city

(C) The Jantar Mantar

D) Bikaner Fort
%!‘E!‘%‘%ﬂﬁﬁ I H I G b

IR Teh ferrerd Tt &l 8 7
(A) haeITed TP ITH

(B) SHEYLRTE

(C) SR TR

(D) SR T fohe

What is the State Dance of Rajasthan ?
(A) Mundari (B) Ghoomar

(C) Bhangra (D) Powada
ST T T T R 2 2

(A) T (B)

(C) wrTeT (D) .

art of Rajasthan is a minute
painting on glass using gold.
(A) Devra (B) Thewa
(C) Phad (D) None of these
TSR 6 el |4 T R
IE W T i T (fime Uf) 2 |

(A) g1 (B) ,
(OB (D) $TH & %7 e

MKP
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137.

138.

139.

140.

141.

Which of the following rivers drains into

Bay of Bengal ?

(A) Ghaggar (B) Luni

(C) Mahi (D) Chambal
frafeafigd § 9 &9 ® 7€) s 61 @il
H it g 2

(A) TR (B) =it

(C) e (D) =it

In which district of Rajasthan, Kalibangan,
a pre-historic site, is located ?

(A) Bikaner (B) Jaipur

(C) Jaisalmer (D) Hanumangarh
TTHTETRIeh S Shici s TS o fohd
S afeas 2

(A) R (B) SR

(C) SHHerR (D) BFATTE

What is the tagline of Rajasthan Tourism ?
(A) Land of gods

(B) God’s Own Country

(C) The Incredible State of India

(D) Full of Surprises

TSTEYH e Sl STATS FIT S 2

(A) o8 ATH TgH

(B) TIgH 3TH

(C) T Sohfeaet T 3ATH sfean

(D) e 3T LTS

Who was defeated by Rana Sanga in the
battle of Khatoli ?

(A) Ibrahim Lodi (B) Akbar

(C) Sikandar Lodi (D) Babur

wdtett % I § 7o | A TRl R 1 2
(A) SRH ARG (B) 3Ths
(C) Fp@a@ (D) IR

The Tejaji fair is held every year at which
of the following places in Rajasthan ?

(A) Bhiwadi (B) Udaipur

(C) Beawar (D) qubatsar .
STt Tl B0 HTe ToreH 4 feferfad
T Topm oM W 3t foran ST 2 2

(A) frarsh (B) IR

(C) s (D) WEqE




142.

143.

144.

145.

Rajasthan became the first state in India
to surpass GW of cumulative
large-scale solar installations.

TSI R hl UgAT UET U &9 =7 8
e o8 99 W gelt 9 gfasE &

GW ! IR & fqam 2 |
(A) 15 (B) 10
(C) 20 (D) 23

Sports For All (SFA) sporting services
joined as the powered-by sponsor of
which event ?

(A) Women U-19 World Cup

(B) Khelo India Youth Games

(C) FIH Women’s Hockey

(D) Khelo India University Games
TG HR 3T (SFA) Tt afqest form
T % TSR T o & H A g8 2
(A) g ST - 19 o8 HY

®) o

(C) UHIATSTH FHA Blehl

(D) W sfean Fafdid T

VAYAM RAKSHAMAH (We Protect)
is the motto of which armed force ?

(A) Indian Coast Guard

(B) Indian Navy

(C) Indian Air Force

(D) Indian Army

TN TATHE (B9 &1 i ) fore ovre s
T T -TTH 8 ?

(A) YR q2 & (B) WA 18T
(C) YR I T (D) R &1

Under which scheme of Rajasthan
Government, 12 sanitary napkins are
being provided free of cost every month
to women and adolescent girls for better
health management of women ?

(A) Udaan (B) Shakti

(C) Pankh (D) Pragya
T ThR h fopE ASHT & d&d
AigeTall & dER WY YEH % fon
Higesti 3R ferenfai 1l & 7EH 12
Gfell Aufera g e fohe ST 8 @ 2

(A) SeH (B) wieh

(ORic] (D) STl
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146.

147.

148.

149.

150.

In which of the following cities, Ayush

Ministry organised Scientific Convention

on World Homeopathy Day ?

(A) Jaipur (B) New Delhi

&C) Bhopal (D) Shimla

i-efetiad d § fohw w18t § STy werrerd 4
[Qdd YU AT HHHAA

?
(A) SR (B) 7% feeett
(C) WA (D) fsmem

Which of the following airports in Karnataka
was inaugurated by Prime Minister Shri
Narendra Modi on 27" February ?

(A) Mysuru Airport

(B) Kempegowda Airport

(C) Mangalore Airport

(D) Shivamogga Airport

27 ®E] W JgEEA] A TG QY
e § ffefiaa 4 & frm garE-378
o1 IeHTeH foham T T 2

(A) L EEL
(B) gyﬁﬁ?ﬂ%ﬁﬁ‘-@
(C) HTeiR BalTE - 37T

(D) [ELSEE

Which country is known as a tax haven,
has introduced ‘Federal Corporate Tax’
for the first time ?

(A) Finland (B) Mauritius

(C) UAE (D) Switzerland
TopH <31 1 39T B 6 B9 § THT ST 7,
S8 ugell IR hetd HANC F
ST fopa & 2

(A) Theis (B) W™
(C) TYh WS 3WA(D) Feaesiicts

Which city is the host of ‘5" ASEAN-
India Business Summit’ in 2023 ?

(A) New Delhi (B) Kuala Lumpur
(C) Dhaka (D) Singapore City
H | IR 2023 § 5d ~WRd
TR RER - 3T HASH 8 2

(A) T feeett (B) FHATEAT

(C) @Ish1 (D) A
TLMAL is a joint venture between India’s
Tata Group and which country’s counterpart ?

(A) USA (B) Israel

(C) France (D) Japan

TLMAL ¥Rd o e 9g 3R fh8 <1
THhE o st Teh TIYH ITH § 2

(A) JTEY (B) $SIUEA

(C) iE (D) S

MKP



151.

152.

153.

154.

155.

156.

157.

158.

159.

160.
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Section—-D / HII-¢

English / SO

Which sentence contains an infinitive ?
A) She gave him the book.

]é They made dinner for themselves.
D

To sing is her passion.
He saw the car accident.
Fill in the blank using appropriate forms
of the verbs out of the given options :
Not only you but your friend also
to be blamed.
are

A) is B
C) has D) have
Which sentence contains an appositive ?

g) The car is blue.

C . :

Di The movie was emotional as well as
thrilling.

Which sentence contains an indirect object ?

A) She bought a very nice book.

B) They showed him the way.

C) He played football. )

D) The flowers bloomed beautifully.

Finci1 out synonym for the underlined

word :

Petrarch cultivated his fame and was the
first iéenume literary celebrity.

My friend, a doctor, is coming to visit.
She runs every day.

A) developed B) sequence
C) despair D) demonstrated
Which sentence contains a transitive

verb ?
A) The bird flew away.
B) She slept soundly.
C) The children played in the park.
D) He ate the pizza.

Which sentence contains a co-ordinating

conjunction ? o ) )

(A) The sun was shining brightly in the
sky since there were no clouds.

(B) She had a headache, but she
continued to teach her students.

(C) After she had finished her work, she
went for a walk.

(D) He is tall, dark, and handsome.

Department for military stores
supplies is known as
3

Ordinance (B) Ordnance
Ordination (D) Ordinary
Which sentence contains an adjective

clause ?
(A) The girl who won the race was very

appy.

(B) Hep nge his bike to the store that
was very near to his house.

C) She sang a song for the class.

D) We ate pizza and watched a movie.

Which sentence contains a gerund ?

A§ He enjoys running in the morning.

and

B) She is reading a book.
C) They played tennis after school.
D) The'bird sang a beautiful song.
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162.

163.

164.

165.

166.

167.

168.

169.

170.

“War and Peace” isabook by Tolstoy.
A) write B) written
C) wrote D) writing

Which sentence is an active sentence ?
The car was driven bﬁ m{ brother.
lc)g She sang a song for the class.
everyone in the theatre.

Which sentence is an imperative sentence ?
B) Please turn off the lights when you
c leave.

ED% They played basketball in the gym.

1]%; The cake was baked by my mother.
The movie was watched by

EA) I think we should go to the beach.
He is reading a book about history.

Put the correct word from the options :

I have been waiting here the last
two hours.

A) since B% for

C) in D) over

Which sentence is a declarative sentence ?

A; Can you pass the salt, please ?

B) What is your favorite colour ?

C) The sun 1s shining today. )

D) Wow! That was an amazing
performance!

Identify the complex sentence in the

following options.

A) The dog barked and the cat ran away.
B) She went to the store after she
finished her homework.

(C) He is a great athlete who also excels

in academics.

(D) They played soccer for hours and

then had a picnic.

Which sentence is in the interrogative form ?
A) The movie was very entertaining.
B) She went to the store and bought

some milk. .
C) What time is the meeting ?
D) He ran three miles this morning.

Which sentence is a simple sentence ?
A) The dog barked and the cat ran away.
B) The sun is shining and the birds are

s1ng1r]11§.

(C) I walked to the store and bought
some milk.

(D) She Iloves to read books and
magazines.

Which sentence has a subject-verb

agreement error 7 )

The boy and the girl is walking to school.
B) The flowers in the garden are blooming.
C) He has two sisters and one brother.
D) She sings and dances on the stage.

She my request for travelling
together to UK.
A) turned down (B
C D

turn off

turn on turn out



171.

172.

173.

174.

175.

176.

177.

178.

‘So.... that’ and ‘Such....
hrases which express

A) Adverb clause of noun
B) Adverb clause of verb
C) Adverb clause of manner
D) Adverb clause of result

Which is the correct active sentence of

the following passive sentence ?

I was taken to the }t))ubhc library by my

sister before I was able to read.

(A) Before I was able to read, I was taken
to the public library by my sister.

(B) Before 1 was abled to read, my
sister took me to the public library.

(C) Before I was able to read, my sister
took me to the public library.

(D) I was taken to the public library before
I knew how to read, by my sister.

Give one word for : Irrational fear of crowds
EAg Sitophobia EB) Ochlophobia

C) Astrophobia D) Claustrophobia
Choose the correct

fo.llowin%1 sentence : .
Either the manager or the associates
order

the merchandise.
Bg (
C) is suppose to order
D) are supposed to orders

A/An is a word of exclamatory,
expressing a sudden feeling or excitement.
A) verb EB) adverb

C) interjection D) noun

“The sun smiled down on us.”

The above is an example of

A) Irony

B) Metaphor

C) Personification

D) Both (Metaphor)
(Personification)

Choose the correct meaning of the
idiom or phrase given :
To make clean breast of

A) To gain prominence

B) To praise oneself

C) To confess without of reserve
D) To destroy before it blooms

Choose the one which best expresses the
iven sentence in Indirect speech :
anna asked Rohan, “Have you sat in a
trolley bus before ?” .
(A) Manna asked Rohan had he sat in a
trolley bus earlier.

.that’ are the

verb for the

oracrs

and

(B) Manna asked Rohan had he sat ina i

(C) Manna asked Rohan if he sat on a 187.

trolley bus before.

trolley bus before.

(D) Manna asked Rohan if he has ever

sat in a trolley bus.

H
i
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179.

180.

181.

182.

183.

184.

185.

186.

Find the correct word to complete the

following  proverb and = familiar
expression : .

Strike while the is hot.

A) iron water

EC% metal D) book

Choose the most appropriate articles for
disaster to crops that were already in
required
B q
¢ : :
D) The, no article required, the
Do you understand what I mean ?
ou ?
C
D
you ?
interrogative sentence ?
(B) XVas Ir}e/ not to do/ a villain/ such a

the given sentence:
heavy rainfall last week was
dismal state. .
(A) No article required, an, no article
no article required, a, the
The, a, a
Which of the following best expresses
the same sentence in Passive Voice :
(A)" What I mean is that understood by
ou ?
(B) %\/as what I mean understood by
Y
Is what I mean understood by you ?
What I mean is understood by
Which of the following options has the
correct order of words to form an
(A) A villian /was he/ not to do/ such a
deed ?
eed * o
(C) He was / a villain/ such a deed/ not
to do ?

(D) Was he/ not a villain /to do/ such a
deed ?

No sooner had she read the telegram
she fainted.
than

} C 2 “Ehg?efore Egg there

What is the meaning of the word
‘vernacular language’ ?

A) formal language

g informal language

D

foreign language
native language

Use suitable prefix to make the opposite

of the given word :

Contented )

Ag im EB% in

C) into D) dis

Which one of the following is an

exam%le of “Collective noun” *

A) Dog EB% Man

C) Federation D) Milk

Which word is an antonym for

‘generous’ ? )

Eig stingy ng charitable

C) kind-hearted (D) benevolent
MKP



Read the passage gi
uestions from 6
choosing the answers from the given options :

Reading is an essential skill that students
need to develop in order to be successful in their
academic and professional lives. It is important |
to remember that reading is not just about
about |
understanding the meaning behind those words.
the ability to }
understand, analyze, and interpret what you read. |

There are several strategies that students :
i reading §
comprehension. One of the most important |
strategies is to preview the text before reading |
it. This means looking at the title, headings,
and any pictures or graphics to get an idea of i
what the text is about. Another strategy is to
ask questions as you read. This can help you to
clari ty any confusion you may have and to

oc ;

decoding words on a page, but

Reading comprehension is

can use to improve their

stay focused on the main ideas of the text.

apply it in different contexts.

Finally, reading comprehension is a skill }

with practice. The more ;
you read, the more opportunities you have to ;
skills. So,
whether you’re reading for pleasure or for !
work, take the time to practice and improve |

that can be improve

develop your comprehension

your reading comprehension skills.

188. According to the passage,
reading comprehension ?
(A) The ability to read words on a page

(B) The ability to understand, analyze,

and interpret what you read
(C) The ability to read quickly
(D) The ability to write about what you read

189.

improve their reading comprehension ?

(A) Only read the first and
sentences of each paragraph

(B) Skip over any pictures or graphics

EC) Preview the text before reading it

D) Only read texts that are easy and

familiar

190.
between the text and your
experiences or knowledge ?

(A) To confuse yourself

(B) To remember the information better

I 200.
(D) To make the text more difficult to

and to apply it in different contexts
(C) To ignore the text

understand
MKP

ven below and answer the .
ue. No. 188 to 192 by

It’s also important to note that reading i
comprehension is not just about understanding :
the words on the page, but also about making :
connections between the text and your own :
experiences or knowledge. This can help you i
to remember the information better and to :

what 1s

What is one strategy students can use to

last

Why is it important to make connections
own ;

191.

192.

193.

194.

195.

196.

197.

198.

199.

According to the passage, how can

reading comprehension be improved ?

(A) By avoiding difficult texts

(B) By only reading for pleasure

(C) By practicing reading

(D) By skipping over any pictures or
graphics

What is the main idea of the passage ?

(A) Reading is an essential skill for
success.

(B) Students should only read texts that
are easy and familiar.

(C) Previewing the text is not an
important strategy for improving
reading comprehension.

(D) Making connections between the

text and 1your own experiences is

not  helpful for  improving
comprehension.

One should oneself to whatever
circumstances one 1s placed in.

(A) adapt (B) adopt

(C) adept (D) acquire

What is the meaning of the word
‘quintessential’ ?

(A) common (B) ordinary

(C) typical (D) exceptional
Socrates was wisest of Greek
philosophers.

(A) the (B) a

(C) an (D) no article

Which of the following is an example of
a preposition ?
(B) happy

(A) sing
(C) with (D) quickly

Which of the following is an example of
a conjunction ?

(A) of (B) because

(C) beautiful (D) this

Select the word for the study of rhythm,
sound, pause, stress and pitch features of
a language particularly in poetry and
speech.

(A) programme
(C) prospect

(B) prosody
(D) protagonist

Which of the following is an example of
a possessive pronoun ?

(A) my (B) her
(©) its (D) all of these
He is here, ? Put question tag

(A) didn’t he ?
(C) isn’the ?

(B) won’t he ?
(D) needn’t he ?



151.

152.

153.

154.

(D) &,
155. forg wise H “3A1ae’ T T 2 2
(A) ®=prae (B) #gIge
(C) ESTTee (D) YhTae
156, 1 5 & o wreg 1 Y forde Wi TR 2 2 |
(A) 99 + fagm (B) 99: + HR
(C) HaT + 39 (D) T + 37
157. ‘Gggity wieg fpa afg A s 2 2
(A) drd Hfy (B) Ffgufa |
(C) TOTEY (D) o1 |
158. S0 ¥ 4 Sgsiife T 1 W TR 8 2
(A) s (B) firfeerd
(C) =gHTa (D) oI ;
159. Wwﬁmww@nmﬁ@m%?ﬁ :
I HEd &
(A) 92 (B) s
(C) o (D) Wk
160. 3TH § HehHeh TshaT bl 3CTWT -Tal &

Section—-D / H-¢§

Hindi / &=
%m%wﬁw—gmammi—ﬁaﬂff

T 72
V- -9
(A) T - TEA mﬁssnvﬁ e/

(B) @ - IS
(c)%ﬁ—%ﬁ F:rﬂ?—qéa
(D) M - Sk 3@ - 3ed
DY h T FHAT T dA” FHEEd |
g 31 FaTed |

(A) éﬁnmﬁﬁ IRt aE hl T
(B) 3T UTH i 373! 9% hi ITH
(C) da1 st

(D) iR tieg g

TTE ISASAT -~ GgTal 1 319 &
(A) ITATH T o AT

(B) SR SR Sh1H hidl

(C) Tearer fepern

(D) T

@ﬁ)wm‘gﬁn%?
(A) wﬁﬁ@

(B) 3t
(C) sr%ﬁfuc—or grfesifies

(A) T hidar forgan 2 |

(B) &I Y&dsh AT 2 |

(C) AEA TR |
(D) HT T Iahret 2 |

|-|l--|lc'1|{9|<1 T g forg foepey & ot wrsei o

161.

| 162.

L 163.

L 164,

L 165,

' 166.
| 167.

i 168.

L 169,

L 170,

orgr foehed o gfetm g 78 & 2

(A) brdt, FEm  (B) 31gAM, fowr
© (D) H1eH,
frefefigd wisel W T&dl{?ﬁﬁm:

1. Afaer=nfe 2.

3. ST 4, Y

org faehed # ot w1eg 35 & 2

(A) 2,334 (B) 13ﬁ{2

(C) 1,334 (D) 2 3R 3
Hchdl{adﬁﬁ forg ferehea o Ty are =31

27
(A) 3T e fp # e §
(B) %m%ﬁa%@@%aﬁvﬂmﬁaw

(C) ST ASHI AT &, T8 &R |

(D) & TH! 37T & Fehfere Mar 2 |
R i 3 H T W " @ A g
TR ?

(A) T = o] HTehl RIeTraT |

(B) 98 W g UeT §31 o7 |

(C) S T T R & & |

(D) wm%ww%ﬁ%‘?

Torg eI o foTT SRk wree wneler TR B 2
) m*ﬁ v

(B) AT -

(C) =kl 3=o1 1 T8 71 - afEr

(D) T IYTHH — IT<h

T A 3T | H 3T 7

(A) =l (B)

(C) 3 (D) aﬁj;ﬁ%lﬁ
QEFELFTW ERIRCH SIED)
I hEd 8 - &

(A) Jufd (B)
%21 fz zﬁﬁ(D) 3ﬁ{
{‘L‘C{d JdlAl =YX d{‘|°h|

e I

(A) 3TTH (B)

(C) &SI

EERCHRIEA %5 ?Ef w ERCICER:|

gﬁaﬁwq‘aﬁ a9 39 g o1 9= g

(A) T‘rﬁw (B) T&ferm

(C) Ircafer™ (D) TS

‘Fifern fera T wT T B 7

(A) geTett (B) 3t

(C) SmTeT (D) 35,
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171. SEHT AN Th T & gl forwmT r @

(A) s THH T (B) qiad
(C) FEE I (D) TN T
172. 31 9 8 19 &1 9sg qewel @ 7
(A) G (B) fuer
(C) farem (D) %Y
173. 9= g%ﬁ%lqus e g @agq%h‘;{%
(A) e (B)
€ FW-¥g (D) F-foga
174. 1 HI0 # 9fg e @R § Fefafea g
YHHATEE ? :
(A) ITd (B) &R
(C) "R (D) dTeEc™
175. magwmzﬁm a1 319 qh Agu |
g | |
(A) TS T °b|c’1

(B) Hfey sAe
(©) eﬂﬁﬂ%ﬁiw
(D) 370l ehred
176. STTfceT=ieh T3 T 3CT&T &
(A) = (B) Hiwat
(C) drer (D) <18
177. g Sead o I Y &1 955 @
(A) TG (B) frrrs
©) ¥ (D) SR
178. 3+|-1we4°||ﬂeh{-loHlHWdlewlTﬁ:rw%‘?
(A) & (B) I3
(C) =N (D) #

179. m%r%aﬁ 1 GUER aﬁgﬁmmmﬁes
NEH
(A) ‘F‘m (B) q%”‘iﬁ
(C) T=ee (D) U=t

180. =i H @ISl 8T - gslq{w_@iﬁ%
(A) Th g WgEl §:W
(B) 0 g Ui U

(C) S-SR =T T
(D) 3Tefies ATge BT

181. FrfetRaa o & fore forehen o wgh AR 7 2
(A) hTH U U 3T 137 |
(B) aﬁwwqﬁganaﬁﬁmtﬁm
(C) ST SIRET B T He SETE & ST |
(D) 38 TTAd hTH hich 3R hHMT |
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. Toreft oft
| ST I

182. FEfifga i e w A e i aai Te 3 2
(A) SETEh (B) samr%li
(C) ETh (D) SATEN

T.9. 183 ¥ 187) TTSE hl Ught IS TT T
Fal ARl ®

%

T:ﬁﬁrrsrraﬁﬁwgq‘aﬁaﬁ
%, qT 251 & Yehe Bid & I(’:Elﬂ-idIH?JT\SQI{-II
IoAT™ shl HIeHT B9 H 3ATd &t ferar

; ST & |
Wﬁ?ﬂ?ﬁ% AT TN JUYSRR hT HTEAT T

3T &l S 5@

| BT |
] mﬁqﬁgﬁmmﬁnﬂwﬁmﬁzﬁﬁnw

| G 3T W B 8, 3T I i 5
i 3T T T 3VE hid ¢ TR Tt Srdreen

4 gy 3P Sl shi G~ ST B el 2 |
L g 319 310 - w}lamclld{:‘}ﬁ'{lcl%l{-l casl

Epf ohdl hl JM JYAT TYE AH~1dTHA,

IoAHY 3N gY-gaf=d s o | o ©
| I T <hT WIS S S | JEITeh Teel §
 Hie o % T 38 3o 3uE B & e |

| IelTH T YR 79 H AT & 3ATTeh! AR %

mmﬁﬁwqﬁ % fou erenfa

T 3R AR SHIEr -t wa -=H fd

JRNLE AR
; 183, SeoTd 3R GUYHR 1 Wie W H M H

I T qieraT Tl g 2

(A) T 78 g S |

(B) G@-5:@ I TTE & QT |

(C) SR T 3Teh! 3T IHST ST |
(D) Torer mad firem 3 forw el @ |

| 184, TR A foE-gft Ta-= 3

Han | -t Ta-=f 3= garek
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